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1. Pipes A and B can fill a tank in one hour
and two hours respectively while pipe C
can empty the filled up tank in one hour
and fifteen minutes. A and C are turned on
together at 9 a.m. After 2 hours, only A is
closed and B is turned on. When will the
tank be emptied?

ikbi A vkSj B fdlh Vadh dks Øe'k% ,d ?kaVs vkSj
nks ?kaVs esa Hkj ldrs gSa ysfdu ikbi C Hkjh gqbZ Vadh
dks ,d ?kaVs 15 feuV esa [kkyh dj ldrk gSA A vkSj
C dks ,d lkFk lqcg 9 cts pkyw fd;k tkrk gSA 2
?kaVs ckn dsoy A dks can fd;k tkrk gS vkSj B dks
pkyw fd;k tkrk gSA Vadh dc [kkyh gks tk,xh\

SSC CGL 6 June 2019 (Morning)

(a) 12:10 p.m. (b) 11:30 a.m.

(c) 10:30 a.m. (d) 12:20 p.m.

2. Pipes A and B can fill a tank in 8 hours and
12 hours, respectively whereas pipe C can
empty the full tank in 6 hours. A and B are
opened for 3 hours and then closed and C
is opened instantly.  C will empty the tank
in :

ikbi A vkSj B fdlh Vadh dks Øe'k% 8 ?kaVs vkSj
12 ?kaVs esa Hkj ldrs gSa ysfdu ikbi C Hkjh gqbZ Vadh
dks 6 ?kaVksa esa [kkyh dj ldrk gSA A vkSj B dks 3
?kaVs ds fy, [kksyk tkrk gS rFkk fiQj can dj fn;k
tkrk gSA C Vadh dks fdrus le; esa [kkyh dj nsxk\

SSC CHSL 3 July 2019 (Morning)

(a)
1

4
2

 hours (b)
1

4
4

 hours

(c)
1

3
2

 hours (d)
3

3
4

 hours

3. An inlet pipe can fill a tank in 10 hours
and an other pipe can empty the
completely filled tank in 20 hours. Both
the pipes are opened at 6.30 a.m. When
will the tank get filled?

,d varxZr ikbi fdlh Vadh dks 10 ?kaVs esa Hkj ldrk
gS tcfd ,d cfgxZe ikbi iwjh rjg ls Hkjh gqbZ Vadh
dks 20 ?kaVksa esa [kkyh dj ldrk gSA nksuksa ikbiksa dks
lqcg 6%30 cts pkyw fd;k tkrk gSA Vadh dc Hkj
tk,xh\

SSC CHSL 3 July 2019 (Afternoon)

(a) 2 : 30 a.m. next day

(b) 2 a.m. next day

(c) 1 a.m. next day

(d) 12:00 midnight

4. One tap can fill a tank in 3 hours and a

leak can empty it in 5 hours. If the tap and
the leak (which was half closed) were left
open, how long will it take for the tank to

fill?

,d uy fdlh Vadh dks 3 ?kaVs esa Hkj ldrk gS vkSj
,d Nsn bls 5 ?kaVs esa [kkyh dj ldrk gSA ;fn uy
,oa Nsn (tks vk/k can Fkk) dks [kqyk NksM+ fn;k tk,
rks Vadh dks Hkjus esa fdruk le; yxsxk\

SSC CPO 16 March 2019 (Morning)

(a)
2

4
7

 horus (b)
1

5
3

 horus

(c)
2

6
3

 horus (d)
1

7
2

 horus

5. Two pipes A and B can fill an empty tank
in 8 hours and 12 hours respectively. They

are opened alternately for 1 hour each
starting with pipe A first. In how many
hours will the empty tank be filled?

nks ikbi A vkSj B fdlh [kkyh Vadh dks Øe'k% 8
vkSj 12 ?kaVs esa Hkj nsrs gSaA ikbi A ls 'kq:vkr djrs
gq, mUgsa ,d&,d djds 1 ?kaVs ds fy, [kksyk tkrk gSA
fdrus ?kaVksa esa ;g [kkyh Vadh Hkj tk,xh\

SSC CPO 12 March 2019 (Evening)

(a)
1

9
3

 hours (b) 9 hours

(c)
1

9
2

 hours (d)
1

9
4

 hours

6. Pipes A and B can rfill a tank in 16 hours
and 24 hours respectively whereas pipe C
can empty the full tank in 40 hours. All

three pipes are opened together, but pipe
A is closed after 8 hours. After how many
hours, the remaining part of the tank will

be filled?

PIPE AND CISTERN (uy vkSj Vadh)
(CLASSROOM SHEET (PART-2))
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ikbi A rFkk ikbi B fdlh Vadh dks Øe'k% 16 vkSj
24 ?kaVksa esa Hkj ldrs gSa tcfd ikbi C Hkjh gqbZ Vadh
dks 40 ?kaVs esa [kkyh dj ldrk gSA bu rhuksa ikbi dks
,d lkFk [kksy fn;k tkrk gS ysfdu 8 ?kaVs ckn ikbi
A can dj fn;k x;kA Vadh dk 'ks"k Hkkx fdrus ?kaVksa
esa Hkjsxk\

SSC CPO 13 March 2019 (Evening)

(a) 28

(b) 22

(c) 26

(d) 30

7. Pipes A, B and C can fill a tank in 30 h,
40 h and 60 h respectively. Pipes A, B and
C are opened at 7 a.m., 8 a.m. and 10 a.m.
respectively on the same day. When will
the tank be full?

ikbi A, B vkSj C fdlh Vadh dks Øe'k% 30] 40
vkSj 60 ?kaVksa esa Hkj ldrs gSaA ikbi A, B vkSj C dks
,d gh fnu Øe'k% lqcg 7] 8 vkSj 10 cts pkyw
fd;k tkrk gSA Vadh fdl le; Hkj tk,xh\

SSC CGL TIER II 11 Sept. 2019

(a) 10.00 p.m.

(b) 10.20 p.m.

(c) 9.20 p.m.

(d) 9.40 p.m.

8. Pipe A and B can fill a tank in 16 hours
and 24 hours respectively, and pipe C
alone can empty the full tank in x hours.
All the pipes were opened together at 10.30
a.m., but C was closed at 2.30 p.m. If the
tank was full at 8.30 p.m. on the same day,
then what is the value of x?

ikbi A vkSj B fdlh Vadh dks Øe'k% 16 vkSj 24
?kaVs esa Hkj ldrs gSa rFkk ikbi C vdsyk Hkjh gqbZ Vadh
dks x ?kaVs esa [kkyh dj ldrk gSA lHkh ikbiksa dks
lqcg 10%30 cts ,d lkFk pkyw fd;k x;k ysfdu
2%30 p.m. esa C dks can dj fn;k x;kA ;fn Vadh
mlh fnu 8%30 p.m. esa Hkj xbZ] rks x dk eku Kkr
djsaA

SSC CGL TIER II 12 Sept. 2019

(a) 64 (b) 48

(c) 45 (d) 96

9. Pipe A and B are filling pipes while C is an
emptying pipe. A and B can fill a tank in
72 and 90 minutes respectively. When all
the three pipes are opened together, the
tank gets filled in 2 hours. A and B are
opened together for 12 minutes, then
closed and C is opened. The tank will be
empty after

ikbi A vkSj B Hkjus okys ikbi gSa tcfd ikbi C

[kkyh djus okyk ikbi gSA A vkSj B fdlh Vadh dks
Øe'k% 72 vkSj 90 feuV esa Hkj ldrs gSaA tcfd bu
rhuksa ikbi dks ,d lkFk pkyw dj fn;k tkrk gS rks
Vadh 2 ?kaVs esa Hkj tkrh gSA A vkSj B dks 12 feuV
rd ,d lkFk pkyw fd;k tkrk gS] fiQj can djds C
dks pkyw fd;k tkrk gSA Vadh fdrus le; ckn [kkyh
gks tk,xk\

SSC CGL TIER II 13 Sept. 2019

(a) 15 minutes

(b) 18 minutes

(c) 12 minutes

(d) 16 minutes

10. Pipe A can fill a cistern in 4 hours and

another pipe B is installed both the pipes

together fill the cistern in 
1

2
2

 hours. How

long will it take for B alone to fill the

cistern?

ikbi A fdlh Vadh dks 4 ?kaVs esa Hkj ldrh gSA ,d
vU; ikbi B yxkbZ xbZA nksuksa ikbi ,d lkFk Vadh dks

1
2

2
 ?kaVs esa Hkj ldrh gSA B dks vdsys bl Vadh dks

Hkjus esa fdruk le; yxsxk\
SSC CPO 16 March 2019 (Morning)

(a) 5 hours (b)
3

6
8

 hours

(c)
2

6
3

 hours (d)
1

5
6

 hours

11. Pipes A and B can fill a tank in 6 hours and

8 hours respectively and pipe C can empty

the full tank in 12 hours. All three pipes

are opened together, but pipe A is closed

after 3 hours. In how many hours will the

remaining part of the tank be filled?

ikbi A vkSj ikbi B fdlh Vadh dks Øe'k% 6 vkSj 8
?kaVs esa Hkj ldrs gSa rFkk ikbi C Hkjh gqbZ Vadh dks 12
?kaVsa esa [kkyh dj ldrk gSA bu rhuksa ikbi dks ,d
lkFk [kksy fn;k tkrk gS ysfdu 3 ?kaVs ckn ikbi A

can dj fn;k x;kA Vadh dk 'ks"k fgLlk fdrus ?kaVs esa
Hkjsxk\

SSC CPO 12 March 2019 (Evening)

(a) 9

(b) 12

(c) 11

(d) 10
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12. Two pipes A and B can fill a tank in 16
hours and 20 hours respectively. They are
opened alternatively for 1 hour each,
starting with pipe A first. In how many
hours with the empty tank be filled?

nks ikbi A vkSj ikbi B fdlh Vadh dks Øe'k% 16
vkSj 20 ?kaVs esa Hkj ldrs gSaA ikbi A ls 'kq:vkr djrs
gq, mUgsa 1 ?kaVs ds fy, ,d ds ckn ,d djds [kksyk
tkrk gSA [kkyh Vdh fdrus ?kaVksa esa Hkj tk,xh\

SSC CPO 13 March 2019 (Evening)

(a)
3

17
5

 hours (b)
1

17
5

 hours

(c)
1

17
4

 hours (d)
3

17
4

 hours

13. Two pipes A and B can fill a tank in 6 hours
and 9 hours respectively. They are opened
altenately for one hour each, starting with
pipe A first. In how many hours will the
tank be filled?

nks ikbi A vkSj B fdlh Vadh dks Øe'k% 6 vkSj 9
?kaVs esa Hkj ldrs gSaA ikbi A ls 'kq:vkr djrs gq,
muesa ls izR;sd dks ,d&,d djds 1 ?kaVs ds fy, [kksyk
tkrk gSA Vadh dks Hkjus esa fdrus ?kaVs yxsaxs\

SSC CPO 12 March 2019 (Morning)

(a) 5 (b) 4

(c) 6 (d) 7

14. Pipes A and B can fill a tank in 6 hours and
9 hours respectively and pipe C can empty
the full tank in 12 hours. If all three pipes
are opened together when a tank is empty.
In how many hours will 35% of the tank
be filled?

nks ikbi A vkSj B fdlh [kkyh Vadh dks Øe'k% 6
vkSj 9 ?kaVs esa Hkj ldrs gSa vkSj ikbi C Hkjh gqbZ Vadh
dks 12 ?kaVs esa [kkyh dj ldrk gSA ;fn Vadh [kkyh
gksus ij rhuksa ikbi ,d lkFk pkyw dj fn, tkrs gSa rks
Vadh dk 35» Hkkx fdrus ?kaVksa esa Hkj tk,xk\

SSC CPO 12 March 2019 (Morning)

(a) 1.9 hours (b) 1.5 hours

(c) 1.6 hours (d) 1.8 hours

15. Two pipes A and B can fill an empty tank
in 10 hours and 16 hours respectively.
They are opened alternately for 1 hour
each starting with pipe A first. In how
many hours, the empty tank will be filled?

nks ikbi A vkSj B fdlh [kkyh Vadh dks Øe'k% 10
vkSj 16 ?kaVs esa Hkj nsrs gSaA ikbi A ls 'kq:vkr djrs
gq, mUgsa ,d&,d djds 1 ?kaVs ds fy, [kksyk tkrk gSA
fdrus ?kaVksa esa [kkyh Vadh Hkj tk,xh\

SSC CGL 6 June 2019 (Morning)

(a)
1

12
3

 hours (b)
1

12
8

hours

(c)
1

12
4

 hours (d)
1

12
6

 hours

16. Pipes A and B can fill a tank in 12 hours

and 16 hours respectively and pipe C can

empty the full tank in 24 hours. All three

pipes are opened together, but after 4

hours pipe A is closed. After how many

hours, beginning will the tank be filled?

ikbi A rFkk ikbi B fdlh Vadh dks Øe'k% 12 vkSj
16 ?kaVksa esa Hkj ldrs gSa tcfd ikbi C Hkjh gqbZ Vadh
dks 24 ?kaVs esa [kkyh dj ldrk gSA bu rhuksa ikbi dks
,d lkFk pkyw dj fn;k tkrk gS rFkk 4 ?kaVs ckn
ikbi A can dj fn;k tkrk gSA Vadh dks Hkjus esa dqy
fdrus ?kaVs yxaxs\

SSC CPO 13 March 2019 (Morning)

(a) 24 hours (b) 28 hours

(c) 30 hours (d) 32 hours

17. One-fourth of a tank can be filled in 3

hours by pipe A and one-third of the same

tank can be filled in 2 hours by pipe B. How

long will it take for the tank to be filled if

both pipes are kept open?

fdlh Vadh dk ,d&pkSFkkbZ Hkkx ikbi A ds }kjk 3
?kaVs esa rFkk blh Vadh dk ,d&frgkbZ Hkkx ikbi B

}kjk 2 ?kaVs esa Hkjk tk ldrk gSA ;fn nksuksa ikbi pkyw
dj fn, tkrs gSa rks bl Vadh dks Hkjus esa fdruk le;
yxsxk\

SSC CPO 14 March 2019 (Morning)

(a) 5 hrs (b) 2 hrs

(c) 4 hrs (d)
1

2
2

hrs

18. A tank be filled by pipe A in 5 hours and
emptied by pipe B in 8 hours respectively.
How much time will it take for the tank

in the half full?

,d VSad dks ikbi A }kjk 5 ?kaVs esa Hkjk tk ldrk gS
vkSj ikbi B }kjk Øe'k% 8 ?kaVs esa [kkyh fd;k tk
ldrk gSA VSad dks vk/k Hkjk gksus esa fdruk le; yxsxk\

SSC CPO 14 March 2019 (Morning)

(a)
1

3
 hrs (b)

2
8

3
 hrs

(c)
1

12
3

 hrs (d)
2

6
3

 hrs
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19. Pipe A can fill a tank in 16 minutes and
pipe B empties it in 24 minutes. If both the
pipes are opened together after how many
minutes should B be closed, so that the
tank is filled in 30 minutes?

ikbi A fdlh Vadh dks 16 feuV esa Hkj ldrk gS rFkk
ikbi B bls 24 feuV esa [kkyh dj ldrk gSA ;fn bu
nksuksa ikbi dks ,d lkFk pkyw fd;k x;k gS] rks B dks
fdrus feuV ckn can djuk gksxk rkfd Vadh 30 feuV
esa Hkj tk,\

SSC CPO 16 March 2019 (Evening)

(a) 21 min (b) 20 min

(c) 18 min (d) 15 min

20. Two pipes A and B can fill a tank in 45
minutes. if pipe A can fill an empty tank
in 1 hour, how long will it take pipe B to
fill the empty tank?

nks ikbi A rFkk B fdlh Vadh dks 45 feuV esa Hkj
ldrs gSaA ;fn ikbi A [kkyh Vadh dks 1 ?kaVs esa Hkj
ldrk gS] rks bl [kkyh Vadh dks Hkjus esa ikbi B dks
fdruk le; yxsxk\

SSC CPO 15 March 2019 (Morning)

(a) 2 hours (b) 3 hours

(c) 1 hour (d) 4 hours

21. A pipe can fill a tank in 30 minutes. Due
to two leakages A and B, the filled tank

would be drained off in 
1

1
2

 hour and 
1

1
4

hour respectively. How long will it take to
fill the tank if the pipe A and B left open?

,d ikbi fdlh Vadh dks 30 feuV esa Hkj ldrk gSA
nks fNnzksa A ,oa B ds dkj.k Hkjh gqbZ Vadh Øe'k%

1
1

2
 ?kaVs rFkk 

1
1

4
 ?kaVs esa [kkyh gks ldrh gSA ;fn

A vkSj B dks [kqyk  NksM+ fn;k tk, rks ikbi }kjk
Vadh dks Hkjus esa fdruk le; yxsxk\

SSC CPO 15 March 2019 (Morning)

(a) 1
7

8
 hour (b) 1

1

3
 hour

(c) 1
4

5
 hour (d) 1

5

6
 hour

22. Two pipes can fill a cistern in 72 and 90
minutes respectively. If both the pipes are
left open how long will it take for the
cistern to be half full?

nks ikbi fdlh Vadh dks Øe'k% 72 vkSj 90 feuV esa
Hkj ldrs gSaA ;fn nksuksa ikbi pkyw dj fn, tk, rks
Vadh dks vk/k Hkjus esa fdruk le; yxsxk\

SSC CPO 16 March 2019 (Afternoon)

(a) 40 minutes (b) 24 minutes

(c) 48 minutes (d) 20 minutes

23. A pipe can fill a tank in 4 hours and a leak
at the bottom can empty that full tank in
6 hours. If after the tank is 1/3 full, the
leak is completely closed, How much time
from beginning will it take for the tank to
get filled completely?

,d ikbi fdlh Vadh dks 4 ?kaVs esa Hkj ldrk gS rFkk
ry ij ekStwn ,d fNnz bl Hkjh gqbZ Vadh dks 6 ?kaVs esa
[kkyh dj ldrk gSA ;fn Vadh ds 1@3 Hkkx Hkj tkus
ds ckn bl ns dks iwjh rjg ls can dj fn;k tkrk gS]
rks Vadh dks iw.kZr% Hkjus esa 'kq: ls dqy fdruk le;
yxsxk\

SSC CPO 16 March 2019 (Afternoon)

(a) 12 hours

(b) 4 hours

(c) 9 hours

(d)
20

3
hours

24. A pipe can fill a tank in 32 minutes. Due
to a leak the tank is filled in 48 minutes.
How long will it take to empty the tank due
to leakage?

,d ikbi 32 feuV esa ,d VSad Hkj ldrk gSA fjlko
ds dkj.k VSad 48 feuV esa Hkj ikrk gSA fjlko ds
dkj.k Hkjk gqvk VSad [kkyh gksus esa fdruk le; yxsxk\

SSC CPO 14 March 2019 (Evening)

(a) 1 hour 36 minutes

(b) 1 hour 42 minutes

(c) 1 hour 20 minutes

(d) 1 hour 56 minutes

25. Two pipes A and B fill tank in 20 min and
30 min. respectively. If A is kept open for
only the 1/5th of starting time and A and
B are kept open for remaining time; then
how much time is taken by both pipes to
fill the tank?

nks ikbi A vkSj B ,d VSad dks Øe'k% 20 feuV vkSj
30 feuV esa Hkj ldrs gSaA ;fn 'kq: esa dqy le; ds
1@5 osa Hkkx ds fy, dsoy ikbi A dks vkSj 'ks"k
le; ds fy, ikbi A vkSj B nksuksa dks [kqyk j[kk
x;k Fkk rks VSad dks Hkjus esa nksuksa ikbiksa dks fdrus
feuV yxs gksaxs\

SSC CPO 15 March 2019 (Evening)

(a)
5

16
23

(b)
1

13
23

(c)
5

13
23

(d)
1

16
23
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26. Three pipes A, B and C can fill a cistern in
15, 24 and 36 minutes respectively. if pipe
D can drain a full tank in 1 hour, how long
will it take for the tank to be filled it all
the four pipes are kept open together?

rhu ikbi A, B vkSj C Øe'k% 15] 24 vkSj 36 feuVksa
esa Vadh dks Hkj ldrs gSaA ogha ikbi D iwjs Hkjs VSad
dks 1 ?kaVk esa [kkyh dj ldrk gSA ;fn lHkh pkj
ikbiksa dks ,d lkFk [kqyk j[kk tkrk gS rks ml VSad dks
Hkjus esa fdruk le; yxsxk\

SSC CPO 15 March 2019 (Evening)

(a)
1

9
8

(b)
12

5
25

(c)
16

8
43

(d)
2

7
3

27. Pipe A can fill a tank in 6 hours. Pipe B
can fill the same tank in 8 hours. Pipe A,
B and C together can fill the same tank in
12 hours, then which of the following
statements is true for pipe C?

ikbi A, 6 ?kaVs esa ,d VSad dks Hkj ldrk gSA ikbi B
mlh VSad dks 8 ?kaVs esa Hkj ldrk gSA ikbi A, B vkSj
C feydj mlh VSad dks 12 ?kaVs esa Hkj ldrs gSaA fiQj
ikbi C ds fy, fuEufyf[kr esa ls dkSu&lk dFku lgh
gS\

SSC MTS 2 August 2019 (Morning)

(a) It can fill the tank in 4 hours 40 min-

utes.

(b) It can fill the tank in 4 hours 48 min-
utes.

(c) It can empty the tank in 4 hours 48
minutes.

(d) It can empty the tank in 4 hours 40
minutes.

28. Pipe P can fill a tank alone in 7 hours. Pipe

Q can fill the same tank alone in 13 hours.
In how much time can they together fill
the tank?

ikbi P, 7 ?kaVs esa vdsys ,d VSad dks Hkj ldrk gSA
ikbi Q mlh VSad dks 13 ?kaVs esa Hkj ldrk gSA os ,d
lkFk fdrus le; esa VSad dks Hkj ldrs gSa\

SSC MTS 2 August 2019 (Evening)

(a) 3 hours 18 minutes

(b) 3 hours 45 minutes

(c) 4 hours 12 minutes

(d) 4 hours 33 minutes

29. An inlet pipe A originating from a river can

fill a reservoir in 30 days and an outlet
pipe B, which is capable of emptying the
completely filled reservoir in 50 days,

drainsout the water from the reservoir to
an irrigation canal. The pipe are opened on

alternate days starting with A. On which
day from the beginning will the reservoir
get completely filled for the first time?

,d vkarfjd ikbi ,d unh ls mRiÂ gksus okyk ,d
tyk'k; 30 fnuksa esa Hkj ldrk gS vkSj ,d cká ikbi
B tks 50 fnuksa esa iwjh rjg ls Hkjs tyk'k; dks [kkyh
djus esa l{ke gS] tyk'k; ls ,d flapkbZ ugj }kjk
ikuh ckgj fudkyk tkrk gSA A ls vkjaHk gksrs gq, ;s
ikbi ckjh&ckjh ls [kksys tkrs gSaA 'kq:vkr ds fdl
fnu ds ckn tyk'k; iwjh rjg ls Hkj tk,xk\

SSC MTS 5 August 2019 (Morning)

(a) 75th (b) 47th

(c) 150th (d) 74th

30. Pipe A can fill an empty tank completely
in 11 hours. Pipe B can empty this fully
filled tank in 15 hours. If both the pipes
are opened simultaneously, in what time
will the empty tank be filled?

ikbi A fdlh [kkyh VSad dks 11 ?kaVsa esa iw.kZ :i ls
Hkj ldrk gSA ikbi B bl iw.kZ :i ls Hkjs x, VSad
dks 15 ?kaVs esa [kkyh dj ldrk gSA ;fn nksuksa ikbiksa
dks ,d lkFk [kksyk tkrk gS] rks [kkyh VSad fdrus
le; esa Hkjsxk\

SSC MTS 5 August 2019 (Afternoon)

(a) 41 hours 15 minutes

(b) 49 hours 45 minutes

(c) 47 hours 30 minutes

(d) 39 hours 15 minutes

31. Pipe D
1
 can fill an empty tank in 80

minutes and pipe D
2
 can empty the same

tank in 100 minutes. If pipes are opened
simultaneously, then in how much time
the tank gets completely filled?

ikbi D
1
 ,d [kkyh VSad dks 80 feuV esa Hkj ldrk

gS vkSj ikbi D
2
 mlh VSad dks 100 feuV esa [kkyh dj

ldrk gSA ;fn nksuksa ikbi ,d lkFk [kksys tkrs gSa] rks
VSad fdrus le; esa iwjh rjg ls Hkj tk,xk\

SSC MTS 7 August 2019 (Evening)

(a) 320 minutes

(b) 400 minutes

(c) 200 minutes

(d) 240 minutes

32. Pipe V
1
 can fill an empty tank in 8 hours.

Pipe V
2
 can fill the same tank in 16 hours.

Pipe V
3
 can empty the same, completely

filled, tank in 12 hours. If three pipes are
opened simultaneously, then in how much
time will the tank get completely?
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ikbi V
1
 ,d [kkyh VSad dks 8 ?kaVs esa Hkj ldrk gSA

ikbi V
2
 ml VSad dks 16 ?kaVs esa Hkj ldrk gSA ikbi

V
3
 mlh Hkjs gq, VSad dks 12 ?kaVksa esa [kkyh dj ldrk

gSA ;fn rhu ikbi ,d lkFk [kksys tkrs gSa] rks VSad
fdrus le; esa iwjh rjg Hkj tk,xk\

SSC MTS 8 August 2019 (Afternoon)

(a)
41

3
 hours (b)

42

11
 hours

(c)
38

5
 hours (d)

48

5
 hours

33. Pipe A can fill a tank in 36 minutes and
pipe B is able to empty this in 45 minutes.
If both pipes are opened simultaneously,
then the tank will filled half in _____ hours.

ikbi A fdlh VSad dks 36 feuV esa Hkj ldrk gS vkSj
ikbi B mls 45 feuV esa [kkyh dj ldrk gSA ;fn
nksuksa ikbiksa dks ,d lkFk [kksy fn;k tkrk gS] rks VSad
dh vk/h {kerk dks Hkjus esa yxus okyk le; (?kaVksa
esa) gS &

SSC MTS 13 August 2019 (Morning)

(a) 2 (b) 1.5

(c) 1.25 (d) 1.75

34. Two pipes P and Q can fill an empty tank
in 20 minutes and 10 minutes respectively.
R can empty a full tank in 15 minutes. If
all three pipes are opened together, how
much time (in minutes) will they take to
fill the tank?

nks ikbi P vkSj Q Øe'k% 20 feuV vkSj 10 feuV esa
,d [kkyh VSad Hkj ldrs gSaA R, 15 feuV esa ,d iwjk
VSad [kkyh dj ldrk gSA ;fn lHkh rhu ikbi ,d
lkFk [kksys tkrs gSa] rks VSad dks Hkjus esa fdruk le;
yxsxk\

SSC MTS 14 August 2019 (Evening)

(a) 12 (b) 18

(c) 10 (d) 15

35. Pipe A can fill a tank in 10 hours. Pipe B
can fill the same tank in 12 hours. Pipe C
can empty a full tank in 16 hours. All the
pipes are opened at 8:00 a.m. and pipe A
and B are closed at 10:00 a.m. After how
much time from starting will the tank be
empty?

ikbi A, 10 ?kaVs esa ,d VSad Hkj ldrk gSA ikbi B

mlh VSad dks 12 ?kaVs esa Hkj ldrk gSA ikbi C, 16
?kaVs esa iwjk VSad [kkyh dj ldrk gSA lHkh ikbi lqcg
8%00 cts [kksys tkrs gSa vkSj ikbi A vkSj B, 10:00

a.m. ij can gksrs gSaA vkjaHk ls fdrus le; esa VSad
[kkyh gks tk,xk\

SSC CGL 6 June 2019 (Morning)

(a) 5 hours 52 minutes

(b) 5 hours 24 minutes

(c) 4 hours 30 minutes

(d) 4 hours 8 minutes

36. A pipe can fill a tank in 18 hours. In how
much time (in hours) will another pipe
operating at one-third the efficiency of the
first pipe fill a tank whose capacity is 50%
of that of the first tank?

,d ikbi 18 ?kaVs esa ,d VSad Hkj ldrk gSA fdrus
le; esa (?kaVksa esa) igys ikbi dh ,d&frgkbZ dk;Z
dq'kyrk ij pyus okyk nwljk ikbi ml VSad dks Hkj
nsxk ftldh /kfjrk igys VSad dh rqyuk esa 50» gS\

SSC MTS 19 August 2019 (Morning)

(a) 36 (b) 21

(c) 45 (d) 27

37. A pipe can fill a tank in 56 hours, but due

to leakage in its base, it takes 16 hours

more to fill it. Only in how much time (in

hours) can the 
1

83 %
3

 portion of the

leakage tank be consumed?

,d ikbi 56 ?kaVs esa fdlh VSad dks Hkj ldrk gS]
ysfdu bldh ryh esa fjlko ds dkj.k mls Hkjus esa 16
?kaVs vf/d yxrs gSaA ek=k fjlko ds dkj.k VSad ds

1
83 %

3
 fgLls dks fdrus le; (?kaVksa esa) esa [kkyh

dj ldrk gS\
SSC MTS 19 August 2019 (Morning)

(a) 126 (b) 210

(c) 252 (d) 105

38. Pipe A and B can empty a fully filled tank

in 8 and 12 hours respectively. C is a filling

pipe. These three pipes were opened at the

same time and in one hour the sixth part

of the tank became empty. In how much

time can C fill the tank alone?

ikbi A vkSj B Øe'k% 8 vkSj 12 ?kaVs esa ,d iwjh
rjg ls Hkjs VSad dks [kkyh dj ldrs gSaA C Hkjus okyk
ikbi gSA bu rhuksa ikbiksa dks ,d gh le; ij [kksy
fn;k x;k vkSj ,d ?kaVs esa ml VSad dk NBoka Hkkx
[kkyh gks x;kA C vdsys VSad dks fdrus le; esa Hkj
ldrk gS\

SSC MTS 20 August 2019 (Afternoon)

(a) 25 hours

(b) 20 hours

(c) 30 hours

(d) 24 hours
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39. An inlet pipe can fill a tank in 2 hours and

an outlet pipe can empty a fully filled tank

in 3 hours. If the inlet and outlet pipe are

opened simultaneously, in what time will

the empty tank be filled?

dksbZ vkarfjd ikbi 2 ?kaVs esa fdlh Vadh dks Hkj ldrk
gS vkSj ckgjh ikbi 3 ?kaVs esa iwjh Hkjh gqbZ Vadh dks
[kkyh dj ldrk gSA ;fn vkarfjd vkSj ckgjh ikbi
dks ,d lkFk [kksy fn;k tkrk gS] rks [kkyh Vadh fdrus
le; esa Hkj tk,xh\

SSC MTS 20 August 2019 (Evening)

(a) 2 hours (b)
3

2
 hours

(c) 3 hours (d) 6 hours

40. Pipe A and B can empty a filled tank in 20

hours and 15 hours respectively, while pipe

C alone can fill the same tank in x hours.

The three pipes have been opened

simultaneously and they took 40 minutes

to finish the 
1

18
 (one-eighteenth) part of

the tank. The value of x is :

ikbi A vkSj B ,d Hkjs VSad dks Øe'k% 20 ?kaVs vkSj
15 ?kaVs esa [kkyh dj ldrs gSa] tcfd mlh VSad dks
ikbi C vdsyk x ?kaVksa esa Hkj ldrk gS rhuksa ikbi

,d lkFk [kksy fn, x, gSa vkSj mUgksaus VSad ds 
1

18
Hkkx dks [kkyh djus esa 40 feuV dk le; fy;kA x

dk eku gS &
SSC MTS 21 August 2019 (Evening)

(a) 21

(b) 30

(c) 26

(d) 24

41. Pipe A and B can fill a tank in 24 hours

and 30 hours respectively, while pipe C can

empty it in x hours. At the same time and

then C is opened. If the tank become

empty in 90 hours, then what is the value

of x?

ikbi A vkSj B Øe'k% 24 ?kaVs vkSj 30 ?kaVs esa fdlh
VSad dks Hkj ldrs gSa tcfd ikbi C bls x ?kaVs esa
[kkyh dj ldrk gSA A vkSj B dks ,d gh le; ij
10 ?kaVs ds fy, [kqyk j[kk tkrk gS vkSj fiQj C dks
Hkh [kksy fn;k tkrk gSA ;fn VSad 90 ?kaVs esa [kkyh
gksrk gS] rks x dk eku fdruk gS\

SSC MTS 21 August 2019 (Morning)

(a) 15 (b) 16

(c) 18 (d) 20

42. Pipe A and B can fill a tank in 10 hours
and 40 hours, respectively. C is an outlet
pipe attached to the tank. If all the three
pipes are opened simultaneously, it takes
80 minutes more time than what A and B
together take to fill the tank. A and B are
kept open for 7 hours and then closed and
C is opened. C will now empty the tank
in :

ikbi A rFkk B fdlh Vadh dks Øe'k% 10 ?kaVs rFkk
40 ?kaVs esa Hkj ldrs gSaA C ,d fudkl ikbi gS tks
Vadh ls tqM+k gqvk gSA ;fn lHkh rhu ikbiksa dks ,d
lkFk pkyw dj fn;k tk, rks Vadh  dks Hkjus esa A vkSj
B ds }kjk ,d lkFk fy, x, le; dh rqyuk esa 80
feuV vf/d yxrs gSaA A vkSj B dks 7 ?kaVksa rd pkyw
NksM+k tkrk gS rFkk fiQj can djds ikbi C dks pkyw
fd;k tkrk gSA C bl Vadh dks fdrus le; esa [kkyh
djsxk\

SSC CGL 6 June 2019 (Morning)

(a) 45.5 hours

(b) 38.5 hours

(c) 42 hours

(d) 49 hours

43. Tap A can fill a tank in 6 hour, tap B can
fill the same tank in 8 hours and tap C can
empty the same tank in 4 hours. If all
three taps A, B and C are opened together,
then how much time (in hours) will be
taken to fill the tank?

uy A 6 ?kaVs esa ,d VSad Hkj ldrk gS] uy B mlh
VSad dks 8 ?kaVs esa Hkj ldrk gS vkSj C mlh VSad dks 4
?kaVs esa [kkyh dj ldrk gSA ;fn lHkh rhu uy A, B

vkSj C dks ,d lkFk [kksyk tkrk gS] rks VSad dks Hkjus
esa fdruk le; (?kaVksa esa) yxsxk\

SSC CHSL 6 June 2019 (Morning)

(a) 24 (b) 30

(c) 28 (d) 20

44. Tap A can fill a tank in 20 hours and tap
B can fill the same tank in 30 hours. If
both taps are opened together, then how
much time will be taken to fill the tank?

uy A 20 ?kaVs esa ,d VSad Hkj ldrk gS vkSj uy B,

30 ?kaVs esa ,d gh VSasd Hkj ldrk gSA ;fn nksuksa uy
,d lkFk [kksys tkrs gSa rks VSad dks Hkjus esa fdruk
le; yxsxk\

CHSL 14/10/2020 (Morning)

(a) 10 hours

(b) 16 hours

(c) 12 hours

(d) 24 hours
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45. Tap A can fill a tank in 6 hours and tap B
can empty the same tank in 10 hours. If
both taps are opened together, then how
much time (in hours) will be taken to fill
the tank?

uy A, 6 ?kaVs esa ,d VSad Hkj ldrk gS vkSj uy B,

10 ?kaVs esa mlh VSad dks [kkyh dj ldrk gSA ;fn nksuksa
uy ,d lkFk [kksys tkrs gSa] rks VSad dks Hkjus esa fdruk
le; (?kaVksa esa) yxsxk\

CHSL 14/10/2020 (Morning)

(a) 15 (b) 18

(c) 20 (d) 16

46. Pipe A and B fill a tank in 43.2 minutes
and 108 minutes respectively, Pipe C can
empty it at 3 litres/minutes. When all the
three pipes are opened together, they will
fill the tank in 54 minutes. The capacity
(in litres) of the tank is :

ikbi A vkSj B Øe'k% 43-2 feuV vkSj 108 feuV esa
,d VSad Hkjrs gSaA ikbi C bls 3 yhVj@feuV ij [kkyh
dj ldrk gSA tc rhuksa ikbi ,d lkFk [kksys tk,axs]
rks os 54 feuV esa VSad dks Hkj nsaxsA VSad dh {kerk
(yhVj esa) gS &

CGL TIER II 2019 (15/10/2020)

(a) 160 (b) 180

(c) 216 (d) 200

47. Pipe A and B can fill a tank in 12 minutes
and 15 minutes, respectively. The tank
when full can be emptied by pipe C in x
minutes. When all the three pipes are
opened simultaneously, the tank is full in
10 minutes. The value of x is :

ikbi A vkSj B Øe'k% 12 feuV vksj 15 feuV esa
,d VSad Hkj ldrs gSaA tc VSad Hkjh gks rks ikbi C

}kjk x feuV esa [kkyh fd;k tk ldrk gSA tc rhuksa
ikbi ,d lkFk [kksys tkrs gSa] rks VSad 10 feuV esa Hkj
tkrk gSA x dk eku gS &

CGL TIER II 2019 (16/10/2020)

(a) 18 (b) 15

(c) 20 (d) 24

48. Two pipes A and B can fill a tank in 15
hours and 18 hours respectively. Both
pipes are opened simultaneously to fill the
tank. In how manny hours will the tank be
filled?

nks ikbi A vkSj B Øe'k % 15 ?kaVs vkSj 18 ?kaVs esa
,d VSad Hkj ldrs gSaA VSad dks Hkjus ds fy, nksuksa
ikbi ,d lkFk [kksys tkrs gSaA fdrus ?kaVs esa VSad Hkj
tk,xk\

CPO 2019 23/11/2020 (Morning)

(a)
2

7
11

(b)
2

9
11

(c)
2

10
11

(d)
2

8
11

49. Pipes A and B can fill a tank in 16 hours

and 24 hours respectively, whereas pipe C

can empty the full tank in 49 hours. All

three pipes are opened together, but pipe

A is closed after 10 hours. After how many

hours will the remaining tank be filled?

ikbi A vkSj B Øe'k% 16 ?kaVs vkSj 24 ?kaVs esa ,d
VSad Hkj ldrs gSa tcfd ikbi C, 40 ?kaVs esa iwjk VSad
[kkyh dj ldrk gSA lHkh rhu ikbi ,d lkFk [kksys
tkrs gSa ysfdu 10 ?kaVs ds ckn ikbi A can dj fn;k
tkrk gSA fdrus ?kaVs ckn 'ks"k VSad Hkj tk,xk\

CPO 2019 23/11/2020 (Morning)

(a) 15.5 (b) 12.5

(c) 20 (d) 10

50. When operated separately, pipe A taks 5
hours less than pipe B to fill a cistern and
when both pipe are operated together, the

cistern get filled in 6 hours. In how much
time (in hours) will pipe B fill the cistern,

if oprated?

uy A, tc vyx ls lapkfyr fd;k tkrk gS rks Vadh
dks Hkjus ds fy, ikbi B ls 5 ?kaVs de ysrk gS vkSj
tc nksuksa ikbi ,d lkFk lapkfyr gksrs gSa rks Vadh 6
?kaVs esa Hkj tkrk gSA lapkfyr gksus ij fdrus ?kaVs (?kaVksa
es) ikbi B Vadh dks Hkj nsxk\

CPO 2019 23/11/2020 (Evening)

(a) 9 (b) 18

(c) 10 (d) 15

51. Two pipes can fill a tank in 15 hours and
4 hours respectively, while a third pipe can

empty it in 12 hours. How long (in hours)
will it takes to fill the empty if all the three
pipes are opened simultaneously?

nks ikbi Øe'k% 15 ?kaVs vkSj 4 ?kaVs esa ,d VSad Hkj
ldrs gSa tcfd ,d rhljk ikbi 12 ?kaVs esa bls [kkyh
dj ldrk gSA ;fn rhuksa ikbi ,d lkFk [kksys tkrs gSa
rks [kkyh VSad dks Hkjus esa fdruk le; yxsxk\

CPO 2019 23/11/2020 (Evening)

(a)
15

7
 hours (b)

30

7
 hours

(c)
20

7
 hours (d)

50

7
 hours
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52. Pipe A, B and C can fill an empty tank in
30

7
 hours, if all the three pipes are opened

simultaneously, A and B are filling pipe and
C is an emptying pipe. Pipe A can fill the
tank in 15 hours and pipe C can empty it

in 12 hours. In how many hours can pipe
B alone fill the empty tank?

ikbi A, B vkSj C, 
30

7
 ?kaVs esa ,d [kkyh VSad dks

Hkj ldrs gSa] ;fn rhuksa ikbi ,d lkFk [kqyrs gSa A

vkSj B ikbi Hkj jgs gSa vkSj C ikbi [kkyh dj jgk
gSA ikbi A VSad dks 15 ?kaVs esa Hkj ldrk gS vkSj
ikbi C VSad dks 12 ?kaVs esa [kkyh dj ldrk gSA ikbi
B fdrus ?kaVs esa vdsys [kkyh VSad Hkj ldrk gS\

CPO 2019 24/11/2020 (Morning)

(a) 6 (b) 3

(c) 5 (d) 4

53. Pipe A, B and C can fill a tank in 15, 30
and 40 hours respectively. Pipe A, B and
C are opened at 6 a.m., 8 a.m. and 10 a.m.
respectively on the same day, when will be
tank be full?

ikbi A, B vkSj C Øe'k% 15] 30 vkSj 40 ?kaVs esa
,d VSad Hkj ldrs gSaA ikbi A, B vkSj C dks mlh
fnu lqcg 6 cts] lqcg 8 cts vkSj lqcg 10 cts
[kksyk tkrk gS] rc VSad dc Hkj tk,xk\

CPO 2019 24/11/2020 (Evening)

(a) 3:20 p.m.

(b) 5:20 p.m.

(c) 7:20 p.m.

(d) 11:20 p.m.

54. Pipes A and B can fill a tank in 16 hours
and 24 hours respectively, whereas pipe C
can empty the tank in 40 hours. All three
pipes are opened together, but pipe C is
closed after 10 hours. After how many
hours will the remaining tank be filled?

ikbi A vkSj B Øe'k% 16 ?kaVs vkSj 24 ?kaVs esa ,d
VSad Hkj ldrs gSa tcfd ikbi C VSad dks 40 ?kaVs esa
[kkyh dj ldrk gSA lHkh rhu ikbi ,d lkFk [kksys
tkrs gSa] ysfdu ikbi C, 10 ?kaVs ckn can gks tkrk gSA
fdrus ?kaVs ds ckn 'ks"k Hkkx Hkj tk,xk\

CPO 2019 25/11/2020 (Morning)

(a)
1

5
2

(b) 5

(c) 2 (d)
1

2
2

55. Two pipes A and B can fill a tank in 12

hours and 18 hours, respectively. Both

pipes are opened simultaneously. In how

much time will the empty tank be filled

completely?

nks ikbi A vkSj B Øe'k% 12 ?kaVs vkSj 18 ?kaVs esa
,d VSad Hkj ldrs gSaA nksuksa ikbi ,d lkFk [kksys tkrs
gSaA [kkyh VSad dks iwjh rjg ls Hkjus esa fdruk le;
yxsxk\

CPO 2019 25/11/2020 (Morning)

(a) 9 hours 30 minutes

(b) 7 hours 12 minutes

(c) 6 hours

(d) 10 hours 24 minutes

56. A pump can fill a tank with water in 1

hour, because of a leak, it took 
1

1
3

 hours

to fill the tank. In how many hours can the

leak alone drain all the water of the tank

when it is full?

,d iai ,d VSad dks ikuh ls 1 ?kaVs esa Hkj ldrk gS]

Nsn ds dkj.k VSad dks Hkjus esa 
1

1
3

 ?kaVs yx x,A Nsn

fdrus ?kaVs esa Vadh dk lkjk ikuh [kkyh dj ldrk gS\
CPO 2019 25/11/2020 (Evening)

(a) 5 (b) 1

(c) 4 (d) 2

57. Two pipe A and B can fill a cistern in 
1

12
2

hours and 25 hours respectively. The pipes

are opened simultaneously and it is found

that due to a leakage in the bottom, it took

1 hour and 40 minutes more to fill the

cistern. When the cistern is full, in how

much time will the leak empty the cistern?

nks ikbi A vkSj B Øe'k% 
1

12
2

 ?kaVs vkSj 25 ?kaVs

esa ,d Vadh Hkj ldrs gSaA ikbi ,d lkFk [kksys tkrs gSa
vkSj ;g ik;k tkrk gs fd ,d uhps fNnz ds dkj.k
1 ?kaVs vkSj 40 feuV vf/d le; yxkA tc Vadh Hkj
tkrh gS] rks Vadh dks fNnz fdrus le; esa [kkyh dj
nsxk\

CPO 2019 25/11/2020 (Evening)

(a) 42 hours

(b) 48 hours

(c) 45 hours

(d) 50 hours
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